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Coercion

The concept of coercion is a very important one. Watching the video, we learned
that when an entry does not match what an R function is expecting, R tries to
guess what we meant before throwing an error. This might get confusing at
times.

As we've discussed in earlier questions, there are numeric and character vectors.
The character vectors are placed in quotes and the numerics are not.

We can avoid issues with coercion in R by changing characters to numerics and
vice-versa. This is known as typecasting. The code, as.numeric(x) helps us
convert character strings to numbers. There is an equivalent function that
converts its argument to a string, as.character(x) .

Let's practice doing this!
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o Define the following vector:

v o~ afl1 Z R nany

https://campus.datacamp.com/courses/data-science-r-basics/vectors-2880951d-f853-4766-adba-8b23deeebc5e?ex=12
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R Console

02/11/23, 3:15 PM

2 Dark Mode

script.R
1 # Define the vector x
2 x <-1c¢(1, 3, 5,"a")
3
4 # Note that the x is character vector
5 X
6
7 # Redefine "x  to typecast it to get an integer vector using "as.numeric .
8 # You will get a warning but that is okay
9 x<-as.numeric(x)
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